Honors Algebra 2 Name V\
Chapter 2 Quiz - no graphing calculator

Period

1. Giveng(x) = -—3(x 1)# — 3, describe the transformation from the parent function.
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2. Write an equation for the parabola in that passes through (-7, 15) and has vertex (-5, 9).
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3. Given f(x) = (x — 3)? + 6, write an equation g(x) with a YWMS a horizontal stretch of 3, r
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4. Given f(x) = 2(2x + 1)? — 4, write an ¢ x) with a vertical shrink of ! moves right 3.
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5. For f(x) = 2(x —|2)* + 5] find the vertex, axis of symmetry, where it is increasing and decreasing, and graph it.
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6. Forg(x) = %(x — 6)(x — 2), find the vertex, axis of symmetry, where it is increasing and decreasing, and graph it.
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7. For h(x) = —2x% — 8x + 1, find the vertex, axis of symmetry, where it is increasing and decreasing, and graph it.
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8. Write an equation of the parabola that passes through the points in the table:
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9. Write the equation for the following quadratic: x-intercepts are -3 and 5, goes through the point (-1, 3)
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10. A football player kicks a football downfield. The height of the football increases until it reaches a maximum height
of 15 yards, 30 yards away from the player. A second kick is modeled by f(x) = —0.032x(x — 50) where f is the
height (in yards) and x is the horizontal distance (in yards). Compare the distances the footballs travel before hitting
the ground. In your answer, include how much further does the longest kick travels.

First kick travels 10 yds further
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